EOUHULIBI MTJTOLYAOMN.
KBAJPATHbIN
KUIIOMETP U
KBAJPATHbIN
MUITTTUMETP.



50 ed. = Oec.

365 ed.= Odec. eoO.
2120 ed. = com Oec.
5050 e0. = mbIc eO.



[TpoBepb cebst

50 ed. = 5 Oec.

365 ed. = 36 Oec. 5 eO.
2120 ed. = 21 com. 2 Oec.
5050 e0. = 5 mbic. 50 eo.



42 KM 195 m
206 cm
1000 cm
18M 4 OM
11Mm 90M
9KM 6 M



1 AM?2 1 CM2

1O0M2 — 3TO KBagpat 1 CM2 — 3TO KBagpart
CO

CO CTOPOHOW 1M CO CTOPOHOW 1 CM




I
1 M2 M2 — 3TO

CO CTOPOHOU 1




3anoMmHu!
]

1M2=100CcM2=10000cC
M2

1AM2=100CM?2




- r
1 KM2 1KM2 — 3TO

CTOPOHOMN 1 KM




MM 2 MM2 — 3TO
TBagpar

CO CTOPOHOU 1
MM

1 cM2 = 100MM2



5kM2=5000000Mm2
8CcM2=800MM2
48kM2=48000000m2
15cM2=1500MM2

4KM2 120M2=4000120M2
23CM2 20MM2=2320MM2



| 420 KM
2 KM 180 Km
1) 420-180=240 (KM)
2) 240-180=60(KMm)

OTBeT: Ha 60KM DonbLUe noes3a rnpoLles, Yem
emMy ocTasnoce.




